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3 gl an o3 W T # O e -4
Candxsates ae (oQured 13 give their answers in thew own word3 as far as P"-"‘Tmm
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While answormg the queshons, candidale shourd aoheee 10 e word it A5 far as pmcmwfe.
PREPIEREE SRR i ) £ N0 15 ATE T MR i [ AN £

the questons carehlly.

15 AMnutes of exira twna s been al 100 toe e candwlales 10 read
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tions which are compuisory, each carryng 1 mark.

in Section - A ihero are 50 objective lype ques
: siack bav pen against the correct opben on O Sheet pronaed lo you.
OMR Paper, othetwise the result will be invalid.

7  gvg - §F 22 FF CIT B & (o ¥ By 2 F Briidr &) Fyan & 13l 15
pEdl FT T R Mt 8
TP HINVEL F T HA &t gedn gea 0w & (wdp B AT 5 T Buie &)

geidas g o By 22 (werm o ¥ 4T s g 1o T 8

In Section + B, thore are 22 shorl answer type questions {(each carrying 2 marks), out of which any
15 questions e 12 D2 answeved. Aparet iom I'ns [here 3¢ 4 Long Answer Type questions (Each
ach quostion has an 2iternate ophion

Carrying § marks) E _
ot wrie & AR GTFEA FT 387 QO aivfT &)
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BiharPaper.com @S -3 _/ SECTION=A
g / Objective Ty uest

L oy Yo (a2 wrgm) w2 gl fag SafiA IR @ -

AA) tE arafa. wmn (B) (& WERrE S
(C) TF aftdpy ziceq (D) % Jufeda o
Every point on a number line represcnts -
(A) areal number (B) a natural number
() arationsl number (1) un irrational number
2. Prafofaa @ @ wre-m frer zemEa WIN die 22
1" 9
(A) 790 (B) 3100
€ . 33 () 7 2 2
21.53,73 )
Which of the following numbers has lerminating decimal expansion?
" 91
(A) }N‘ {B! m
(Cy .. 343__ (D) None of these
27 v5373

JFY)

AR N Pl-i T N 16, 20, TN M TAF T Mo P TR —

The least number, which is perfect square and is divisible by cach 16, 20, and 24 is-
AA)Y 240 (B) 1600

() 2400 (D) 3600

4. T TN o YA IS TF ngww Imeads T 14 e € FHAY TEATN
(LCM) oo sieem arwatss (MCK) 30 oiYg 600 8| @ ©o Wi 280 &, 4 Zad "@@n
t -

The LCM of two numbers is 14 times their HCF. The sum of LCM and HCF is 600, If
onc of the number is 280 then the other number is -

(A) 40 (B) RO

(C) 120 DY 20
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Tean '_"‘:i"l 4 E iﬁq,qﬁ(m P-q q‘uﬂait q*“]mem!’

23,43 can be expressed in the farm of & (p, q are integers. ¢ 0)-
1)

2320

9% 100
2343 >
990 99

afd f(x)= 2¢7 + 65 -6 T TAE o f 2, @ -

If a.f are the zeros of f{x)=2x*+6x = 6. then -

(A) a+f=0p B) a+f>af

() arf<op > a+prap=0

Yoy afiiee i x+2y =5 T Ix+12y =10 ¥ =

(A) TFd 5@ 6IM By wrd @ @

(C) s A AfE @ B (D) ¥4 aeadl €A et
The pair of linear cquations x+2y=5 und 3x +12y = 10 has-

(A) umiyue solution (B) no solution

(C) mowe than one solution (D) infinitcly many solution

Py A @ @ ague T8 87 BiharPaper.com
Which of (he following is not a polynomial?

v,
(A =x+1 (B) 2-x2 4+ ix

(C) | o x
x-1

afr 03x=037=037x-03, A x T A 8 -

If 0.3x - 0.37=0.37x ~ 0.3, then x has the value -
(A) -l (B -2
._(Cl +1 (D) +2

[210] Page 3 of 16
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0. 6x'y qen 12xy &1 wgem wmaads 2-

The HC.F, of 6x‘yand 12xy -
(A) 6x%y (B) 6x
(C) ey (D) 6xy
11. xuf2 '7‘K+|97} =149 afr 197x +173y =221, ar (x, Y) g
T 173x 4197y 2149 ang 197x +173y =221, then (x. y) willbe
(A) 3,.9 B 2.0
© ..y D 2,-D
12 3R R g g : —dax + 2a +; =0 Fram g LA A=

' the quadratic equation ax’ - dax + 2a +1 = 0 has repeed (equal) roots, a = ......

(A) 0 ]
By Y
(Cy 2 (M 4
13 Mi}-“::rlh‘aqﬁmﬁ;m A Wi A @ A BT -
The square root of 64 divided by the cube root of 64 is -

(A) 64 (B) 2
© Y D) (64)%

. (DT @ e e n & R wl -
(A) n U& s yois &) AB) n ok ve goie )
(C) n T mvnew quiis &) (D) n @ ¥ P 2
(x+1) is a factor of (" + 1), only if -
(A) nis a positive integer (B) nisan odd integer
(C) nis anegative integer (D) nisaneven integer

15. J10x 15 awax ¢ -

J10 VIS isequal to-

-
s(A) 56 B) 65
() V30 (D) V25

Pagea 4 of 18
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16. af} Jitan9=35in9 a% sin’@—con'0 MR & -

If x@hﬂﬂ=33in0 . then s5in’ @ —cos® @ is equal 1o -
(A) V3 (B) E.
3
C 1 ]
O 3 (D) —=
N

17. ¥ 75in’0+3c08°0 =4 Wa gect +cosecd T & -
If 7sin®@+3c0s? B =4, then sec8+cosecd Is cqual to -

2 2
(A) =2 i D
\.3 [ ] (B} ‘:3
2 Ng)
C NS
() 33' (1)) 3
18. uf2 Scotf=3 wa 3sin®-3cox® wWet k-

45in8+ 3cosd

Ssin@~-3cosh .
; 0= - to -
If Scot@=3, then 1<in BT 3cosB is equal to

11 ' 16
(A) 1B (B) =
(C) % BiharPaper.com () ;_;

19. afe sinx°=sina 7@ a & -

If sinx®=sina, then & is -

180 _—
* (A) = (B) 270
| 70 x
© '2',}" D) 5

20. tan15°-1an20°-tan 70°-1an75° ¥ A WM-
The value of tan15°-tan 20° 1an 70° - an75° -
(A) -1 (B) 2
© 0 (D) 1|
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2L R e A fvem o g 4508 T e e
T &) A o) Farg (e A & -
I¥ the inclination of Sun's ray itcrease Trom 45°
tower decrease by 50m. Height of the tower (in nt) is -

o 6lF°, the

(A) 75{3_@) () zs(n—ﬁ]
(c 3 3-1 |
b 100K3 44) © 503 ) § (Gnd) 904 B -

2 w*’““m’iu&qmﬂmmmmnﬁmmmwaﬁ el

o el s equal to
The angle of elevation of the Sun, when length of shadow of & v rtical pule 15 egk

its height is «

(A) X X
2 (B) 3

(C) X n

- 4 (D) 6

23. UP 6 M Fh am @ gt w orw 243 Rex aed & A1 G T U Fo 6—.
A 6m height pole’s shadow on the carth is 2v'3 m long. then the Sun's clevation is -
o A) o0¢ (B) 45°
€ 3 (D) 15° k
M. T 6 Mee S g & v 4 B T E) 3D ww e @A N B 50 fiex & @

T & Fad (Mew M) & -
A tree of 6m height casts a 4m long shadow, At the sume time a flag post canls a
shadow S0 m long. The height of the post (in m.) is -

(A) 40 (B) 25

) 15 (D) 10
25, R Q) AR Jurd h, by # 0 T AFad @ 3 - o’ BRI g @

AR T B BT AR Han 60° wen 30° & a '-]:-'—a-meg]':n_

k4
.

If two towers of height by and h; subtend angle 60°and 30° at the midpoim of linc

joining their bascy ol lowers, then % is -
' (A) 3:1 (B) 1:2
(©) J3:1 (D) V2:1

[210] . Page 6.0f 18



26. WA M AT x =) M y-oa APERA A AL -
(A} UF-THY & wwpan &
(B) YS-TM & warrae &
AC) AW H-gY D TR & T waq R
(D) =% Fued & am ) e
The lines x = ~land y= .4 are -
(A) perpendicular w each ather
(B) pamallel to cach ather
(C) neither purallel nor perpendicular to each other
(D) Nothing can be said
27. fra B & A0 M & Namws (0, 4), (©.0) 3 (3, ) & TTR R B

(A) 8= (B 105073
_(C) 1n2gwr (D 1§ so7¢
The perimeter of a triangle with vertices (0. 4, (0. O) and (3, M is -
(A) 8 Unit (B) 10 Unit
(C) 12Unit (D) 15 Unit

28, Framas (2. K-3) @ (4, -7) B wiey arch @ @ g@s 3 & A kw A -

The slope of the line joining the points (2, K-3) and (4. -7y is 3. The value of K will

be
(A -10 (B) -6
(C) -2 Dy 10

29. wed W@ x =-2 841 y =3 & TN faeg -
The lincs X =-2and y = 3 intersects at poiniy-

A (-2,3) (B3) 2.-3

) 3,-2) D) 3.2
30. TR YT 5x -3y +10=0 w1 3 B T T fr[s ®1 &3FA -

y(A) -!;;W (By § a4y
(C) 8§ (Dy 15 ¥F
The arca of the triangle Tormed by line 5x -3y +10 = 0 with co-ordinute axis will be-
(A) ?cm’ (B Sem’
(C) 8cm’ _ (D) 1Sem?

[2 10] Paga 7 of 16 [Turn over



M A
. w3 4 af BD = CD, CE = AE. ZBAD = £CAD: ZEBC = ZEBA @ pyrfafm
I 319 po -n which
In the figure i BD = CD, CE=AE. ZBAD = ZCAD: £EBC = ZEBA then
of the f “owing satemens s true? A
(A) AB=BC =AC «(B) AB=BC
() AB=z AC (D) BCzAC
32,

fﬁﬂ 7 faa 8 PQ[] BC, AP =234 PB = 6 &) PQ=3 e L a’] BC {ﬂ"ﬂ' f{] =
n the figure PQ ) BC, AP =2em, PB = 6¢cm, PQ) = 3 em then BC (in cm)=

(A) § (B) 9
© 10 (I 12
33. AABC o ADEF wnwg 8 9l o1 &% 3 9 e 16 ot 3 ¢ aft EF=4.2
A A BC (3 #) =
AABC "VADEF _ Area of AABC and ADEFare 9 and 16 sq. ¢m respectively. If
EF =4.2cm then BC (incm) =
(A) 4.2 (B) 315
(C) 4.7 (D) 5.15
34, tw Wwd ¥ w1 drea (Puifa ) ¥ K & snawam & ot K w5 8 =
To determine a straight line, atleast K points are required. Then K is equal to-
‘:\, 4 (By 3
) 2 (D) 1
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3. R M A28 DENPC, Ap = 29% DB =34/ R AE=16%1, T B

37.

38,

39.

(@A A} =

l“ '.l‘c ﬁ];l.lrc_ I}H ﬂ HE' AI) - 2‘:"‘. DB =3 cm and AE —_ I ,6 cm lhen ECﬁﬂ ¢m}‘

A

(A) 1.2 ¢ B 24

(C) 2.5 | (D) 48

AT 4:24 s R U2 A g Ause @ fred fodh on o g -
At 4:24 pm, how many degrees hay the hour hand of a clock moved from its position
at noon?

(A) 135° AB) 1340

(Cy 133 (Dy 132°

sl Bopa & 4 @ (Fmd) @ Prens fag o) wgl TN -

(A) ¥ 4w (B) gl B

() Wy o (D) g

The point of concurrency of three nititudes of a trian gle is called its-
(AY incentre (B) circum-centre

()Y centroid (D) ortho centre

nfe @ ga qa,-q:mwfm%tgat,mdﬁqaﬂwmqmﬁmmmaﬂ
[T &— _

I twao circles touch each other externally. then the number of common tangent to the

circle 15-

Y ' (B) 2
(C) 3 (D) 4
PQRS oF TR v geram g @ o BT TEYS o, TET B
(A) fawaam agdd By
. (C) anTd (D) wiEra qi s

inscribed in a circle then it Is not a-
(B) square
(D) wapezivm

If PQRS is u parallelogram
(A} rhombus
(C) rectangle

[210)
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0. mwmf!}ﬂnstﬁ;mw&GﬂOMﬂTﬂ@awmﬂa‘“

41,

43.

<RPS =

I the given figure, PQRS is a cyclic quadriliteral inscribed in a circle with center O,
then ZRPS =

(A) 3pe (B) 05°

[y 700 (N Be°

RO A& fyom B AN gA (@ 20 AN TUE 4} AdT B TH gV ATEA AW WAL Y83
8 A R -

The rativ of e ttal surface area 1o the luteral surface area of a cylinder with hase
Tadius 80 cm and height 20cm is -

(A 1:2 (B) 2:1

) 3 Dy §:1

#Fﬂmnﬂgﬁmgaﬁﬁmmmgumz;aé.mnams:méanarwwm
2:3. & T e &1 S -

The radii of 1 base of 3 eylinder and 4 cone are in the ratio 3 : 4 and their heights arc
0 the ratio 2 ; 3, then their ratio of volumesis-

AA) 9:8 (B) 9:4

€ 3:1 (D) 27:64

T@ UA @1 s 2044 3 &1 gura g w39 A g

The volume of a cube is 2744 ¢m®, Its surface area (incm?) iy «

(A} 196 (B) 588

(C) 734 (M 1176

Yh 8N oM @ IR P o A AN Prom @ Brd S A TR @ wsd 2-
How many balls. cach of ridius 1cm can be made from a solid sphere of leud of
radius 8 cm?

(A) 256 - (B) 512

(C) 1024 ) 576

[21 0] | Page 10 of 16



45- Q'EF '\':f]'{fr,_" s
T Ay .
'ﬁ'ﬂ s 3 L ¥y |

; R 8
A hol| - Mty qﬂﬁ e ong g 3w oen x am @1 5@ AR O
el It?“" Sphe ¢ of exte D Ay Ay @ UE B Tard ens ) & - . -
(A) “"l ":“ 3 cong fbase T and ey diameters Scm and Aem respectively
. () ]; Hileter 8em, The height of cone (in cm) is -
N (B) 13
. We -
16 10 W X S M) 15
Mean of firgy 10 oo Ty g
Cven nm“m'
(A) 110 “Umbers iy .
‘ {? 1 (B) 100
7. «
M W & Ry ThSeriel 5y (10
(A) e o ey -
(C) Bx () ey (b) {B) aTrM ‘
The Class - ingapyat « Ay T O
(A nomoyer 10 drawing ogive o1
mm—uverlapping (M overlappin
() bk {0 & (by ’ (D) None t-fthfne
"H. oren (!}. 'ﬂﬁ_\lm]{}.' Sﬁ-{ 4 ) :

SAF (2) & Hn T & -

Mean (x), Mediun (¥) und Made (o) are rp

luted as -
(2) K=y=3z-y (B) x=z=3x-~y)
( ’ *“F=?-\}‘ (D) Mx-o=a-y
19. T U B fagmy oy SO W, 38 - ) — g Th ¢35 W & SieE @ -

In a simultancous throw of two coins, the probabitit y of getting at keast one head is -

(B)

(A)

Wi |-

(C) (D)

0. T dd # 6 T W 8 Ferd 2 B ) v
$ FU @ A wiivma & am &7
A bag contains 6 black and B white balls, One ball is drawn
probability of getting a white bali?

= e

e Il vy # RalE ™y 8 e

A random. What i

. 4

* 3 ® 3

3

(©) é- D3
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5....&

ave -3 / SEL ION=-B

LK e / Non - Objective T¥
) our 4
mm#mwmmﬁmw—wm
xs =20 3m) a1 gore S v &1
In this section you have to answer 15 short answe’ type questions

4 long answer type quastions (4x § marks = 20 marks). F

gav @l
¥ ey ¢ #amagaﬂﬂamﬂﬁ’?#w.f’ms
C. No. - 1 10 22 are Short Answer Type questions. Answers gny.13

uestions

A ST A

{ ?5:2:"'#! = J0marks) and

_  §
mﬁmmﬁqﬂaﬂm%mmlszwwimm
Use Euclid’s division algorithm to find H.C.F. of 960 and 432

2 . & 37
ﬁmmﬁ?}mﬁlﬁwﬁhmﬁ #1 TIFTEq wAR ia & 31 IR
T -

Withowt actually performing the long division. State whether rational number *-2; has

4 terminating decimal expansion o aon-terminating decimal expansion.

af2 Tguz p(x)=x +x41 T EIF @ au B & o’ +f7 W AT I Laf
- X 2

If @ und B are zeros of polynomial p{x)=x*+ x + 1, then find O +PB°.

¥t it g g m Refd A Rri-
5 8 ok 7 4 o @ P 2502, w7 AT AR 5 49 @) HW PAT T46 B

Form a pair of linear equation for the problem -
5 pencil and 7 pens together cost 50 ¥, where as 7 pencils and 5 pen together cost

462.
Rz &% % V5 U3 amfvia s ¢

Prove JS is an irrational number.

7g9z M{x)=x'=-px*+qx-r 3 J yoisl o1 oz T € N w N Ten B
(wgue & et & @)

Find the condition which must be satisfied by co-cfficient of polvaomials. such that

the sum of two zeros of the polynomial f(x)=x"-px* +qx~r. is zero,

[210]
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tg?ﬁ AT | 4@ 9 ftag Ty 2 (able 1S

The cost of 4 chairs und 3 tables is T 2100, Where as that of § chairs ad
R 1750, Find cont of a chair and a table.

}. At 3R, 13.18.23 @ 19 1y yg I8 27
Which term of the serics 3.8, 13, |8, 23.....cvee 18 787

9. RATRIA £LP Wwa &2

In the given figuse. Find 2P

A
Y.8cm/ R0
6“0
B
tem C

Q 12¢m

10. ¥ AABC aen ADEFF @m&n &, @gi AB = 1.2 Jft. afte DE = 19 {1 A AABC 3R

ADEF & Eapa %1 Aquia o 3 |
If AABC and ADEF are similur, such that AB =
of arcas of AARC and ADEF-,
11. U& ga @ bxam 13 390 &
& de A A Y
The radius of a circle is 13cm and ke
distance of chord from the center.
12. ufd 2 Aol (Si) mmfﬁ*naqﬁmmnwwmsﬁﬂ & Prg ®¢ 6 g
ofrar T )
If two chords of a circle are

jntersection. prove that chords are cqual.

|.2¢m and DE = 1.4cm. find the ratio

iy wad wnadl (rm) B w<R o &) S 31 g 8

ngth of one of its chords is 10cm. Find the

equally inclined to the diameter through their point of

13. af2 1anA = %. Al sinAL.CosA T |
(r"

If tanA = T find sinA.cosA

[210] Page 130t 16 Tw



I." 1 v 2 2
ufy SN0 + cosl) = P3¢ secB + cosecd = gt g A p’ ~-1= Ep'
If sinh - 2 2 p
TN ¥ €050 = pund 508 + cosech = . then prove thatp” - 1 = _‘-l

15, : -
afa MMAYBRY = SinA cosR +conA sinB @ sin 75° wF @A)

" g%i:"¢?+m = sinA (‘n!.h“-!-l-.'us.-‘\ sinB lind si.n 15°
AL T a5) 3 N g e
- :':‘; ::: dstance between (-1 3) and -, h. _ | -
R D R R @ -3) @ (10, y) @ dre @ 7D 10 Terd
< Find value of ¥ such that the distance hetweey points (2. -3) and (10, y) is 10 vnits.
8. Regeit 6 6 sie o 4) Y FAE TR g @ wafig a froms ma ORT
Find the co-ondingies of Midpoint of line. having its extreme ends al (6, 8) and (2. 4).
19, Q@ v 4 R AU e (o) B aRaing a3 [
Define MO types of Statistical Data,
20, 7y ME (qug HRW) T Mang (T wand
Mention twa characteristios (features) of Bar diagram.
2L SR e Gy Brivaa g @) wey
Explain “impossible }iy ent” and “Sure Event® in brief,
HET A & ol 89 & gziba =9 an = fand
Give formula for representulg the happening of an cvent A,

| ]
e

‘ R¥T wEn 23 @ 26 T O T 4v7 21 g wrr ¥ smaRE Raey &7 AT R
O.No.23 ta 26 are long answer type guestions. Each question has an internal
oplion.

23, U 29 us P g8 @) o aEm TR @ an s &) af w & T w0 B /ure

ANG oA A T g P e A 2 ver = §h oA ), W= Ay @A A o ¥
A /uver an At dt 7w g8 o N9 ge e A g #9020 g on @ M
TN @ nvar Y

A train covered @ certain distance at a mniform speed. If the rain would have —
10km/hr faster. it would have taken 2 hours less than the scheduled time. but if the
train were slower by 10km/hr. it would have taken 3hours more than scheduled time.
Find the distance covered by the train,

{'2_.‘0] i g:lg&HOllB



B0 Wy i, J5q_/ OR
m‘ﬁﬂipx+q).= '*Wga
oy | P-qlgs —py=p+rq®xTUY

| )
Solve the pair of - @
(i) ¥ udmm H'qmc'" quations px + qy = p - and qx - py = p +q for xand ¥-

liﬁrh} R | by !?‘ A
" - Jby=(Sa+2b+ 1) R Ix-y= |4 & AAUV4T ®
B 0 a ey b wrr Brify, = ¥ o

Find valyes { !
ny B _“ and b for which yhe system of linear equations has. infinite
mber of solution (2 + b)Xx - 2by = (Sa

s .
23. A 3 firy 4 DRI BC men B _5 4 (ADER) g B
DA 3 e (ABFC)
In the given figure:

DE Il BC and g': =§th¢n. fing 2M(ADER

ar{ABFC)

Juar_/ OR

24, AABC 71 3 g1 ofosil BC. CA @1 AB 71 &= D.E. o F @ vl ovan 8 forg
Ffore tF

AF + BD 4 CE= AR+ CD +BF = | (AARC 1 afomm)

The in-circle of a triangle ABC touches the sides RC, CA and AB t D, E and F
respectively.
Prove that:

AF+BD + CE=AE+CD +BF = %t?crium:r of AABC)
25, frg =¥ - '

Prove that -
() SinA(l +tan A)+cos A (1+#cot A)=sce A +cosec A (2)

@B"_L‘ﬂiﬂﬂl:_l:_ l ‘J,
§in0 + cosO -1 secO—tand

[21oj — Page 150f 16 A‘ Fllmd'ilf'
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94l / OR
- m*“‘*’memﬁ\rzﬂ%mﬁwmﬂ\smmmw g B
T ST Ry g 40 Mz g7 WAN & A T 200 @ T &) A A AT
YR ¥
A person Slanding on the bank of a river. obscrves that the angle of elevation of the

0op of a tree, Standing on opposite bank is 60°. When he mo ¢s 40m away from the
bank, he

26. Weu

finds the angle of elevation 10 be 30°, Find the Widih of the river.
PIRE T 11 e R AR W At R & AL Sub GO AT
&1 12 Serwn g 24 IR @ A NG B A o Sl 9 G 16 FAEE & A
98 I T BA GFEI ) o T
The canvuss of a cireus has height 11dm (decinietre) in cylindrical section and above
it. there is  conical Shape. The snaximum height of canvass is 16 decimetre znd the
diameter of canvass is 24 decimetre. Evaluate the total arca of the canvass.
$Yar_/ OR
26. UF wm (4¥1) W) Byeq g T U SN 43 ¥ | JNIW IRTR T ArAwe 154 A ¥
T T B A T Y
The radius and height of a cone are in the ratio 4:3. The area of base is 154 cm’. Find
the area of curved surface.
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